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BR = v semmrm

[FiEd] (20189F) ARl HETHMKIES, X&H
5000/ 76, BRI IREUIN &0k 750 7o, WIHFIE RN
C ).

A 2.01%

B. 1. 00%

C. 4.00%

D. 4. 06%

EE: D

T ZEEIREE=50/5000=1%, FUEHmE L=
= (1+1%) 4-1=4. 06%.




BE = semmmp

(2) WIS LT I SEbrf) 2
(EIE DTRG0 B, RAT B At 32 L 58 & A S RO AL B &
AT B 2202 A 1 2 0E B Ik R = 10 44 ORI 22, B 44 ORI 22 a4
GEY RS
LR A 2T 2 BRI B RZAK Ja 6 ) B4R B 3 15 2R LR 5] 4k
H LSRR 2

\,



BE = senmamm

(IR 4410000, SEPnAl=5%, i@ LTRZAK £ 92%, W
ERIEE KRR,

—4EJG AR A1=100% (1+5%) * (1+2%) =107.1 (JT)

FEFR=100% (1+5%) * (1+2%) -100 = 7.1 (J©)

4 U H 2= [100% (1+5%) * (1+2%) —100] /100= (1+5%)
% (1+2%) -1=7. 1%



BR = semmmo

A RTINS R R ELZbRF R 2 755 R
1+48 X HZE= (I+SEFBaR 2D * (I+E AR
SRR = (1+4 XRZED / QHBEREKE) -1
ANV, w5aE R K E K T4 R, SEFRAl 2K
EL




BE = senmamm

[Hemi] (20245F) FfiizF 4 X F]ZE6. 5%,
FON2. 5%, SEFRRFIE A C ) .

A. 3.9% B. 3. 76%
C. 6. 34% D. 4. 28%
B A

WM. SLhrfZE= (1+&YHFZE) / (1+i\
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WM. FESEPRFZE= (1+2.5%) / (1+2%) —1=0. 49%.



